Binomial Theorem - Class XI

Related Questions with Solutions

Questions

Quetion: 01

Given that (1 + x + x2 )™ = ag + a1x + apx? +...+ agnx2?, Let
ag+ay+as+ ...+ asy, =«
ao—a1+a2—a3...+a2n:6

2 2 b} 2 9 B
ao—a1+a2—a3+...+a2n_ythena+ﬁ+7_

A.0
B.3"+1+a,
cC3"+1—a,
D.3" —1+a,
Solutions
Solution: 01
[1+x +x2]% = ag + agx + apx? +...+ aypx2h
putx =1,
3 =agp +a) +ap +...+ayp =@
putx=-1,
l=ap-a] +ap..+app =0
N 1 1\"
(I4+z4+2%)" (1-=+5) =
xr xr
aq a9 a9
(a0+aix+...+a2nm2n) (ao—?—kp...—i—ﬁ)

n 1
coefficient of 40 in (1 +x+ 3;’2) (1 — 4 _) is
a%—a?—l—a%...—i—ogn .

1 1
coefficient of ;.0 in (1 +x+ Z’Q)n ll - =+ —]

(2 +2+1)" (22 —2x+1)"
xr2n
(z* + 22 +1)"
xr2n

coefficient of x21 in [1 + x2 + x40
letx2 =t, [1 +t + t2]% = ag + aqt +...+ aypt?
So, coefficient of t" is ap

Hence, coefficient of x21 g an =7

Lat+pB+y=3"+1+a,

Correct Options

Answer:01
Correct Options: B



